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21 RERE Elnitkl RIRRMS | RPN | FANEUABE | EFREL | FIHK | SiXkEs: | FREAFEIRER
= fiji 1= L iR 070 e 071400 gt | aH 240. 0
JARES fisi 1 L TR 070 BB 071400 gt | AH 238.0
H i fiji - L iR 070 e 071400 gt | aH 238.0
H I T fisi - L TR 070 BB 071400 gt | AH 237.0
fEE BT fiji - AU iR 070 e 071400 ity | &H 236. 0 14
BV S fifi 1 L TR 070 BB 071400 gt | AH 235.0
SRR fiji 1 JEL TR 070 P Bt 071400 Gty | A H 232.0
X1t fiji -+ JEL BRI 070 H P e 071400 ot | A HH 221.75
BT FH fiji 4= L iR 070 e 071400 gty | aH 220. 0
iRsee'd fisi -+ JEL BRI 070 H P e 070100 B 4= H il 238. 25
FEAX fiji 1 L iR 070 e 070100 By 2 H il 234.0
i A fisi 1 JEL BRI 070 H P e 070100 B 4= H il 233. 25
Eitt H fisi 1 L iR 070 B e 070100 v 2 H il 233.0
TR fii+ JEL BRI 070 P = e 070100 e 4= H il 231. 25
el fiji 4 L TR 070 B e 070100 ey 2 Hil 228. 75
T IR fii+ JEL BRI 070 P = e 070100 e 4= H il 228.5
LS fiji 1 L TR 070 e 070100 ey 4= H il 228. 25
£ fii + JEL BRI 070 P e 070100 e 4= H il 228.0
Ry fiji 4 L TR 070 B e 070100 e 2 Hil 225. 75
7K BH fii + JEL BRI 070 P e 070100 e 4= H il 224.0
VPR fiji 1 L TR 070 e 070100 e 4= H il 222. 25
[ fiji -+ JEL T 070 ke 070100 e 4= H il 220. 25
B fisi+- L TR 070 e 070100 e 4= Hiil 217.5
Ak fiji + JEL T 070 e 070200 e | aH 238.0
I fiji 1 L TR 070 KPR Bt 070200 s | AHH 233.0




